KFUPM - Department of Mathematics & Statistics

MATH102 - Term 172
Quiz 2A (Duration: 25 Minutes)

Name: Soluton ID #: Section #:
Question 1: (5 points) Evaluate the integrals
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Question 2: (5 points) Sketch the region enclosed by the curves y = cosx
x = m/2 and find its area
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KFUPM - Department of Mathematics & Statistics
MATH102 - Term 172
Quiz 2B (Duration: 25 Minutes)

Name: Solukion __ID#: Section #:
Question 1: (6 points) Evaluate the integrals \ i ok ,
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Question 2: (4 points) Sketch the region enclosed by the curves y=cosx, y=1-cosx,
0 < x <m, andfind its area.
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KFUPM - Department of Mathematics & Statistics
MATH10Z - Term 172
Quiz 2C (Duration: 25 Minutes)

-Name: SOL“‘)C 1o 1D #: Section #:
Question 1: (5 points) Evaluate the integrals
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Question 2: (5 points) Sketch the region enclosed by the curves y = |x|, y = x? — 2, and find its

area.
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